UNSTEADY PLANE COUETTE FLOW BETWEEN TWO PARALLEL POROUS PLATES

¹Dr. Krishnandan Prasad Singh and ²Priyanka Kumari

¹University Professor, Principal R.D. College, Sheikhpura Munger University, Munger ²Research Scholar Department of Mathematics, T.M. Bhagalpur University, Bhagalpur.

ABSTRACT

In this paper we discuss the unsteady flow of viscous incompressible fluid between two parallel plates in which the lower wall be suddenly accelerated from rest to move with uniform velocity U in a direction parallel to another flat wall (upper) at rest and at a distance h from it with uniform suction at the lower wall an equal injection at the upper wall. This is the problem of flow formation in couette motion in plane case. The complete solutions for the longitudinal velocity distribution and shearing stress have been obtained in closed forms which depend on the suction parameter σ and time \overline{t} .

Keyword: Incompressible fluid, Laplace transformation, Porous wall, suction, longitudinal velocity, shearing stress.

Introduction

An exact solution of the Navier-stokes equations for steady laminar flow of viscous incompressible fluid between two parallel flat plates, one is uniform motion and other at rest, without suction is well known. This represents the solution of the well known problem of plane couette flow. In this case the velocity distribution is linear and the maximum velocity is at the plate in motion. Sinha and Choudhary obtain the solution of the Navier-Stokes equation in case of the steady plane couette flow between two parallel plate with small uniform suction at the stationary plate under the assumption that the pressure between plates is uniform.

Verma and Bansal discussed the same problem without neglecting the pressure gradient normal to the plate. Gupta and Goyal investigated the problem of plane couette flow between two parallel plate with uniform suction at stationary plate.

Governing Equation

Let us consider the unsteady laminar flow of a viscous incompressible fluid between two parallel porous flat plates in which the lower plate be suddenly accelerated from rest and moves with constant velocity U in a direction parallel to the upper wall at rest and at a distance h from it. It is assumed that the fluid is being sucked from the lower wall with a constant velocity V_0 and the fluid is being injected into the upper wall at the same rate. Let uand v denote the components of the velocity in the direction of x and y increasing. Let the axis of x taken in the direction of flow along the lower wall and y axis at right angle to it. Then the Navier-Stokes equations for the two dimensional unsteady laminar flow of a viscous incompressible fluid in absence of body forces assume the form

$$\frac{\partial u}{\partial t} + u \frac{\partial u}{\partial x} + v \frac{\partial u}{\partial y} = -\frac{1}{\rho} \frac{\partial p}{\partial x} + v \left[\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} \right]$$
(1)
$$\frac{\partial v}{\partial t} + u \frac{\partial v}{\partial x} + v \frac{\partial v}{\partial y} = -\frac{1}{\rho} \frac{\partial p}{\partial y} + v \left[\frac{\partial^2 v}{\partial x^2} + \frac{\partial^2 v}{\partial y^2} \right]$$
(2)

Equation of continuity

$$\frac{\partial u}{\partial x} + \frac{\partial v}{\partial y} = 0 \tag{3}$$

The initial and boundary conditions are :

$$t \le 0, \quad u = 0 \quad \text{for all } y, \text{ if } 0 \le y \le h$$

$$t > 0, \quad u = U \quad \text{for } y = 0, \quad V = V_0 < 0 \text{ (Suction)}$$

$$u = 0 \quad \text{for } y = h, \quad V = V_0 < 0 \text{ (injection)}$$
(4)

Assuming the longitudinal velocity as independent of x,

we have

JETIR1904R92 Journal of Emerging Technologies and Innovative Research (JETIR) <u>www.jetir.org</u> 1317

$$\frac{\partial u}{\partial x} = 0$$

$$\frac{\partial^2 u}{\partial x^2} = 0$$
(5)

Also as solution is uniform, Vis independent of t and x

$$\frac{\partial v}{\partial t} = 0$$

$$\frac{\partial v}{\partial x} = 0$$

$$\frac{\partial^2 v}{\partial x^2} = 0$$
(6)
$$\frac{\partial^2 v}{\partial x^2} = 0$$
Using (5) the equation (3) reduces to
$$\frac{\partial v}{\partial y} = 0 \quad \text{and} \quad \frac{\partial^2 v}{\partial y^2} = 0$$
(7)
Using (6) and (7) the equation (2) reduces to
$$-\frac{1}{\rho} \frac{\partial p}{\partial y} = 0 \quad \text{or} \quad \frac{\partial p}{\partial y} = 0$$
(8)
Now using (5) the equation (3) takes the form
$$\frac{\partial u}{\partial t} + V_0 \frac{\partial u}{\partial x} = -\frac{1}{\rho} \frac{\partial p}{\partial x} + v \frac{\partial^2 u}{\partial y^2}$$
(9)

As the present problem deals with plane couette flow, so the pressure gradient $\frac{\partial p}{\partial x}$ may be

neglected.

The equation (9) becomes

$$\frac{\partial u}{\partial t} + V_0 \frac{\partial u}{\partial x} = v \frac{\partial^2 u}{\partial y^2}$$
(10)

(11)

(12)

Introducing the following dimension less quantities

$$\overline{x} = \frac{x}{h}$$
$$\eta = \frac{y}{h}$$
$$\overline{u} = \frac{u}{U}$$
$$\overline{t} = \frac{vt}{h^2}$$

where U represents the characteristic velocity.

Thus,

$$\frac{\partial u}{\partial t} = \frac{\partial u}{\partial \overline{u}} \cdot \frac{\partial \overline{u}}{\partial \overline{t}} \cdot \frac{\partial \overline{t}}{\partial t} = \frac{Uv}{h^2} \frac{\partial \overline{u}}{\partial \overline{t}}$$
$$\frac{\partial u}{\partial \overline{y}} = \frac{\partial u}{\partial \overline{u}} \cdot \frac{\partial \overline{u}}{\partial \eta} \cdot \frac{\partial \eta}{\partial y} = \frac{U}{h} \frac{\partial \overline{u}}{\partial \eta}$$
$$\frac{\partial^2 u}{\partial y^2} = \frac{\partial}{\partial \eta} \left[\frac{U}{h} \frac{\partial \overline{u}}{\partial \eta} \right] \frac{\partial \eta}{\partial y} = \frac{U}{h^2} \frac{\partial^2 \overline{u}}{\partial \eta^2}$$

The equation (10) with the help of (12) assume the form

$$\frac{Uv}{h^2}\frac{\partial \overline{u}}{\partial \overline{t}} + V_0 \frac{U}{h}\frac{\partial \overline{u}}{\partial \eta} = v \frac{U}{h^2}\frac{\partial^2 \overline{u}}{\partial \eta^2}$$

i.e. $\frac{\partial \overline{u}}{\partial \overline{t}} + V_0 \frac{h}{v} \cdot \frac{\partial \overline{u}}{\partial \eta} = \frac{\partial^2 \overline{u}}{\partial \eta^2}$

$$\therefore \qquad \frac{\partial \overline{u}}{\partial \overline{t}} + \sigma \frac{\partial \overline{u}}{\partial \eta} = \frac{\partial^2 \overline{u}}{\partial \eta^2}$$
(13)

where σ define the suction parameter and is denoted by

$$\sigma = \frac{V_0 h}{\nu} \tag{14}$$

JETIR1904R92 Journal of Emerging Technologies and Innovative Research (JETIR) <u>www.jetir.org</u> 1319

The initial and boundary condition are

$$\overline{t} \leq 0, \ \overline{u}(\eta, 0) = 0 \quad \text{for all } \eta, \ 0 \leq \eta \leq 1$$

$$\overline{t} > 0, \ \overline{u}(0, \overline{t}) = 1 \quad \text{for } \eta = 0$$

$$\overline{u}(1, \overline{t}) = 0 \quad \text{for } \eta = 1$$

$$(15)$$

Present Method of Solution

The present method of the solution of the differential equation (13) deals with the use of Laplace transformation which is introduced below :

Let

$$u'(\eta,s) = \int_{0}^{\infty} \overline{u}(\eta,\overline{t}) e^{-S\overline{t}} d\overline{t}, S > 0$$
(16)

Now multiplying both sides of (13) by $e^{-S\overline{t}}$ and then integrating w.r. to \overline{t} from 0 to ∞ , we get

$$\int_{0}^{\infty} \frac{\partial \overline{u}}{\partial \overline{t}} e^{-S\overline{t}} d\overline{t} + \sigma \int_{0}^{\infty} \frac{\partial \overline{u}}{\partial \eta} e^{-S\overline{t}} d\overline{t} = \int_{0}^{\infty} \frac{\partial^{2} \overline{u}}{\partial \eta^{2}} e^{-S\overline{t}} d\overline{t}$$
$$Su' + \sigma \frac{\partial u'}{\partial \eta} = \frac{\partial^{2} u'}{\partial \eta^{2}}$$

Thus the required differential equation is

$$\frac{\partial^2 u'}{\partial \eta^2} - \sigma \frac{\partial u'}{\partial \eta} - Su' = 0$$
⁽¹⁷⁾

The boundary conditions are $\overline{t} > 0$

$$u'(0,S) = \frac{1}{S} \quad \text{for} = \eta = 0$$

$$u'(1,S) = 0 \quad \text{for} = \eta = 1$$
(18)

The general solution of the differential equation (17) is given by

$$u' = P.e^{\frac{\sigma + \sqrt{\sigma^2 + 4S}}{2}\eta} + Qe^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta}$$
(19)

$$u(\eta, S) = \frac{1}{S} e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} + \frac{e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\left[e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} - e^{\frac{\sigma + \sqrt{\sigma^2 + 4S}}{2}\eta}\right]}}{S\left[e^{\frac{\sigma + \sqrt{\sigma^2 + 4S}}{2}} - e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}}\right]}$$
(20)

Now applying complex inversion formula to (20).

We get

$$\overline{u}(\eta,\overline{t}) = \frac{1}{2\pi i} \int_{y-i\infty}^{y+i\infty} e^{-S\overline{t}} \left[f(s) + F(s) \right] ds$$

 $= \frac{1}{2\pi i} \Big[2\pi i \text{ Sum of the residues of } \Big\{ f(s) + F(S) \Big\} \cdot e^{S\overline{t}} \text{ at the poles} \Big] (21)$

Where
$$f(s) = \frac{1}{S} e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta}$$
 (22)

$$e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2} \left[e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} - e^{\frac{\sigma + \sqrt{\sigma^2 + 4S}}{2}\eta} \right]}$$

$$F(s) = \frac{\int \left[e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} - e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} \right]}{\int \left[e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} - e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} \right]}$$
(23)

Now two cases arise

Case I: Let us take the function defined in (22) in case of function f(s), pole is given by S = 0

Thus the residue of
$$f(s)e^{-S\overline{t}}$$
 at $S = 0$ is

$$= \lim_{S \to 0} \frac{S - 0}{S} e^{S\overline{t}} \cdot e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta}$$
$$= 1 \cdot e^{\frac{\sigma - \sigma}{2}\eta} = 1$$
(24)

Case II : In case function F(S), the pole are given by S = 0 (Once)

and
$$e^{\frac{\sigma+\sqrt{\sigma^2+4S}}{2}} - e^{\frac{\sigma-\sqrt{\sigma^2+4S}}{2}} = 0$$

The second gives

$$e^{\sqrt{\sigma^2+4S}} = 1 = e^{2K\pi i}, K$$
 being any integer
 $\sigma^2 + 4S = -4K^2\pi^2$

The residue of $F(S)e^{S\overline{t}}$ at S = 0 is

$$\lim_{S \to 0} \frac{S - 0}{S} e^{S\overline{t}} \cdot \frac{e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}} \left[e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}\eta} - e^{\frac{\sigma + \sqrt{\sigma^2 + 4S}}{2}\eta} \right]}{\left[e^{\frac{\sigma + \sqrt{\sigma^2 + 4S}}{2}} - e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}} \right]}$$
$$\frac{1 - e^{\sigma\eta}}{e^{\sigma} - 1} = -\frac{1 - e^{\sigma\eta}}{1 - e^{\sigma}} \tag{25}$$

E)

Again the residue of $F(s)e^{S\overline{t}}$ at $S = \frac{-4K^2\pi^2 + \sigma^2}{4}$

$$= \frac{-4e^{-\frac{(4K^{2}\pi^{2}+\sigma^{2})}{4}\overline{t}} \cdot e^{\frac{\sigma-2K\pi i}{2}}}{(4K^{2}\pi^{2}+\sigma^{2})} \left[e^{\frac{\sigma-2K\pi i}{2}\eta} - e^{\frac{\sigma+2K\pi i}{2}\eta}\right] \times S$$

$$\rightarrow \frac{-4K^2\pi^2 + \sigma^2}{4} \frac{S + \frac{4K^2\pi^2 + \sigma^2}{4}}{\left[e^{\frac{\sigma + \sqrt{\sigma^2 + 4S}}{2}} - e^{\frac{\sigma - \sqrt{\sigma^2 + 4S}}{2}}\right]}$$

$$= -\frac{8K\pi}{4\pi^{2}K^{2} + \sigma^{2}} e^{\frac{-(\sigma^{2} + 4K^{2}\pi^{2})}{4}.\overline{r}} \cdot e^{\frac{\sigma\eta}{2}}.\sin K\pi\eta$$
(26)

Using the results of (24), (25) and (26) in (21), we get

$$\overline{u}(\eta,\overline{t}) = 1 - \frac{1 - e^{\sigma\eta}}{1 - e^{\sigma}} - \sum_{K=1}^{\infty} \frac{8K\pi e^{-\frac{(\sigma^2 + 4K^2\pi^2)\cdot\overline{t}}{4}} \cdot e^{\frac{\sigma\eta}{2}} \cdot \sin K\pi\eta}{\left(4\pi^2 K^2 + \sigma^2\right)}$$
(27)

Shearing stress at the lower wall is given by

$$\frac{Th}{\mu U_0} = \left(\frac{\partial \overline{u}}{\partial \eta}\right)_{\eta=0} = \frac{\sigma}{1-e^{\sigma}} - \sum_{K=1}^{\infty} \frac{8K^2 \pi^2 e^{-\frac{(\sigma^2+4\pi^2 K^2).\overline{t}}{4}}}{(4\pi^2 K^2 + \sigma^2)} \quad (28)$$

The equation (27) and (28) represent the required a longitudinal velocity distribution and shearing stress at the lower plate respectively.

PARTICULAR RESULT

The velocity distribution and the shearing stress in case of unsteady plane couette flow between two parallel impermeable plates ($\sigma = 0$) from (27) and (28).

The longitudinal velocity distribution is

$$\overline{u} = 1 - \eta - \sum_{K=1}^{\infty} \frac{2\sin K\pi\eta}{K\pi} e^{-\pi^2 K^2 \overline{t}}$$
(29)

$$\left(\text{Since } \lim_{\sigma \to 0} \frac{1 - e^{\sigma \eta}}{1 - e^{\sigma}} = \eta\right)$$

Shearing stress at the lower wall is given by

$$\frac{T_0 h}{\mu U_0} = 1 - 2\sum_{K=1}^{\infty} e^{-K^2 \pi^2 \bar{t}}$$
(30)

$$\left(\text{Since } \lim_{\sigma \to 0} \frac{\sigma}{1 - e^{\sigma}} = 1\right)$$

When \overline{t} is very large,

i.e. $\overline{t} = \infty$

Equation (29) reduces to

 $\overline{u} = 1 - \eta$

This represents the longitudinal velocity distribution for steady plane couette flow without suction.

REFERENCES:

- Mishra, B.N. and Choudhary, R.C. : Plane couette flow with pressure gradient and suction. *Ran Univ. Math. Jour.*, Vol. 2 (1971)
- [2] Varma, P.D. and Bansal, J.L. : Flow of a viscous in compressible fluid between parallel plates one in uniform motion and other at rest with suction at the stationary plate. *Proc. Ind. Acad. Sci.*, 64, 385-96 (1966).
- [3] Sinha, K.D. and Choudhary, R.C. : Flow of a viscous in compressible fluid between two parallel plates, one in uniform motion and other at rest with suction at the stationary plate. *Proc. Ind. Sci.*, 61, 308-18 (1965)
- [4] Hafeez, Y. Hafeez and Chifu, E. Ndikilar : Flow of viscous fluid between two parallel porous plates with bottom injection and top suction. *Pro. Phy.*, Vo1. **10** (2014).